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Problem: Determine the mobility for the following mechanism
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Consider the following loop closer equation for a four bar mechanism:

drU r, + d3U n - drU r, = doU ro.

Assume link (1) drU u, is ground. Find o: and ro+ if
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Problem: a cam segment has the following specifications

o Rise from 0 to 3 cm for a period from 0 to 120o degree
o The rise is a parabolic

Find the follower travel at 0:80o
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Problem: consider the following bar link. If its
length is 40cm, 0 = 60 degree, a = 30 degree and

T = 50 N.M.

Find the reactions R , Rv and F.
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Faculty of Engineering Philadelphia University Mechanical Eng. Dep.

Course name: Theory of machines 4" and 5'n Quiz Course number:620333 class(1 )
Instructor: Eng. Laith Batarseh Thursdav 91112018 Allowed time: 20 minutes
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Problern 1: a cam segment has the following specifications

o Rise from 0 to 5cm for a period from 0 to 90o degree
o The rise is a parabolic

Find the follower travel at 0 :40o
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Problem 2: For the following compound gear train, find cog. T stand for teeth
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Problem l:if trl2 = 400 RPM and (ru.. = -100 for the gear train. Find the speed of
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Problem 2: consider the following compound gear train,if ruoz:600 RPM, find g. t stand for teeth
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